

Moser's construction of time-dependent Hamiltonian function which defines a Hamiltonian map on \mathbb{R}^{2n}

Sintaro Suzuki

(Received May 20, 2003)

Abstract. We will show that if symplectomorphisms on \mathbb{R}^{2n} admit the generating function with the integrability condition, then these symplectomorphisms are Hamiltonian maps. This is an extension of results of J.Moser in [M].

AMS 2000 Mathematics Subject Classification. 70H15.

Key words and phrases. Symplectomorphism, Hamiltonian map, calculus of variations.

§1. Introduction

Let $\varphi : (\xi, \xi') \mapsto (\eta, \eta')$ be a symplectomorphism defined on \mathbb{R}^{2n} . Here $\xi = (\xi_1, \dots, \xi_n) \in \mathbb{R}^n$ is a vector, similarly for ξ' , η and η' . If φ is the time-1 map of the flow defined a time-dependent Hamiltonian system, this symplectomorphism φ is called a *Hamiltonian map* (for the detail about the Hamiltonian map, see [HZ] and [MS]).

It is an important problem in symplectic geometry to find conditions for a symplectomorphism to be a Hamiltonian map (see [MS]). And if a given symplectomorphism turns out to be a Hamiltonian map, we would like to construct a Hamiltonian function of the Hamiltonian map. However, a little is known about how to construct a Hamiltonian function which defines a Hamiltonian map.

In the present paper, we consider the symplectomorphisms on \mathbb{R}^{2n} which admit a generating function. A generating function is defined as follows.

Definition 1.1. *Let $\varphi : (\xi, \xi') \mapsto (\eta, \eta')$ be a symplectomorphism defined on \mathbb{R}^{2n} . If there exists a smooth function $h : \mathbb{R}^n \times \mathbb{R}^n \rightarrow \mathbb{R} : (\xi, \eta) \mapsto h(\xi, \eta)$ such*

that

$$(1.1) \quad \frac{\partial h}{\partial \xi_i} = -\xi'_i, \quad \frac{\partial h}{\partial \eta_i} = \eta'_i \quad (i = 1, \dots, n),$$

then h is called a generating function for φ .

In the case of \mathbb{R}^2 , J.Moser showed in [M] the symplectomorphism which admits a generating function h is a Hamiltonian map, provided $\frac{\partial^2 h}{\partial \xi \partial \eta} \neq 0$. We prove that Moser's result can be extended to the case of \mathbb{R}^{2n} , if the generating function h satisfies further the integrability condition. Here is our main result.

Theorem 1.2. *Let $\varphi : \mathbb{R}^{2n} \rightarrow \mathbb{R}^{2n} : (\xi, \xi') \mapsto (\eta, \eta')$ be a symplectomorphism which admits a generating function $h : \mathbb{R}^n \times \mathbb{R}^n \rightarrow \mathbb{R} : (\xi, \eta) \mapsto h(\xi, \eta)$. Suppose h satisfies following conditions.*

$$(1.2) \quad (\text{Legendre condition}) \quad \det \left(\frac{\partial^2 h}{\partial \xi_i \partial \eta_j} \right) \neq 0,$$

$$(1.3) \quad (\text{integrability condition}) \quad \frac{\partial^2 h}{\partial \xi_i \partial \eta_j} = \frac{\partial^2 h}{\partial \xi_j \partial \eta_i} \quad (i, j = 1, \dots, n).$$

Then φ is a Hamiltonian map.

The paper is organized as follows. In Section 2 we deal with the variational problem whose extremal curves are segments. This is one of key steps of our construction. In Section 3 we explain what is Moser's construction. Section 4 is devoted to the proof of the main theorem. The final Section 5 is concluding remark.

The author would like to thank Professor Nobukazu Otsuki for his valuable comments and useful advices.

§2. Functional with segments as extremal curves

Let $F = F(t, x, p)$ be a smooth function of $2n + 1$ variables $(t, x_1, \dots, x_n, p_1, \dots, p_n)$, $x = x(t) : [0, 1] \rightarrow \mathbb{R}^n$ be a smooth curve which satisfies

$$x(0) = \xi, \quad x(1) = \eta \quad (\xi, \eta \in \mathbb{R}^n).$$

It is well-known (see [AM]) that the curve $x(t)$ is the extremal for the functional

$$(2.1) \quad \int_0^1 F(t, x(t), \dot{x}(t)) dt$$

if and only if it satisfies the Euler-Lagrange equation

$$(2.2) \quad \frac{d}{dt} \frac{\partial F}{\partial p_i} - \frac{\partial F}{\partial x_i} = 0 \quad (i = 1, \dots, n).$$

From now on, we require that the extremal curves of (2.1) are segments

$$(2.3) \quad x(t) = \xi + t(\eta - \xi)$$

for any $\xi, \eta \in \mathbb{R}^n$. Denote by $S = S(\xi, \eta)$ the extremal integral, i.e.

$$(2.4) \quad S(\xi, \eta) = \int_0^1 F(t, \xi + t(\eta - \xi), \eta - \xi) dt.$$

Then the Lagrangian function F satisfies following two propositions.

Proposition 2.1. *We define the Euler-Lagrange operator as*

$$\mathcal{E}_i = \left(\partial_t + \sum_{k=1}^n p_k \partial_{x_k} \right) \partial_{p_i} - \partial_{x_i} \quad (i = 1, \dots, n).$$

Then

$$(2.5) \quad (\mathcal{E}_i F)(t, x, p) = 0.$$

Proof. If $x(t) = \xi + t(\eta - \xi)$ is the extremal of (2.1) we can compute the Euler-Lagrange equation (2.2) as follows.

$$\begin{aligned} 0 &= \frac{d}{dt} \frac{\partial F}{\partial p_i}(t, \xi + t(\eta - \xi), \eta - \xi) - \frac{\partial F}{\partial x_i}(t, \xi + t(\eta - \xi), \eta - \xi) \\ &= \frac{\partial^2 F}{\partial t \partial p_i} + \sum_{k=1}^n (\eta_k - \xi_k) \frac{\partial^2 F}{\partial x_k \partial p_i} - \frac{\partial F}{\partial x_i}. \end{aligned}$$

Therefore,

$$(\mathcal{E}_i F)(t, \xi + t(\eta - \xi), \eta - \xi) = 0.$$

□

Proposition 2.2. *For any $\xi, \eta \in \mathbb{R}^n$,*

$$(2.6) \quad \begin{cases} \frac{\partial S}{\partial \xi_i} = -F_{p_i}(0, \xi, \eta - \xi) \\ \frac{\partial S}{\partial \eta_i} = F_{p_i}(1, \eta, \eta - \xi) \end{cases} \quad (i = 1, \dots, n).$$

Proof.

$$\begin{aligned}\frac{\partial}{\partial \xi_i} S(\xi, \eta) &= \int_0^1 \frac{\partial}{\partial \xi_i} F(t, \xi + t(\eta - \xi), \eta - \xi) dt \\ &= \int_0^1 \left\{ (1-t) \frac{\partial F}{\partial x_i} - \frac{\partial F}{\partial p_i} \right\} dt\end{aligned}$$

Applying the Euler-Lagrange equation (2.2), we get

$$\begin{aligned}&= \int_0^1 \left\{ -F_{p_i} + (1-t) \frac{d}{dt} F_{p_i} \right\} dt \\ &= \int_0^1 \frac{d}{dt} \left\{ (1-t) F_{p_i}(t, \xi + t(\eta - \xi), \eta - \xi) \right\} dt \\ &= -F_{p_i}(0, \xi, \eta - \xi).\end{aligned}$$

The second equation can be proved similarly. \square

Next, we consider the variational problem for the Hamiltonian system. Let $H = H(t, x, y)$, $t \in [0, 1]$ be a time-dependent smooth Hamiltonian function on \mathbb{R}^{2n} endowed with a coordinates x, y . Consider the Hamiltonian system

$$\begin{cases} \dot{x} = H_y \\ \dot{y} = -H_x \end{cases}$$

which satisfies boundary conditions;

$$(x(0), y(0)) = (\xi, \xi'), \quad (x(1), y(1)) = (\eta, \eta') \quad ((\xi, \xi'), (\eta, \eta') \in \mathbb{R}^{2n}).$$

If the Hamiltonian H satisfies the Legendre condition

$$(2.7) \quad \det \left(\frac{\partial^2 H}{\partial y_i \partial y_j} \right) \neq 0,$$

one can introduce the variables p_i ($i = 1, \dots, n$) by the Legendre transformation

$$(2.8) \quad p_i = H_{y_i}(t, x, y) \quad (i = 1, \dots, n).$$

Defined the Lagrangian $F(t, x, p)$ as follows.

$$(2.9) \quad F(t, x, p) = y \cdot p - H(t, x, y).$$

Then the Hamiltonian system becomes the Euler-Lagrange equation of the variational problem

$$\int_0^1 F(t, x(t), \dot{x}(t)) dt,$$

and the Legendre condition (2.7) for H becomes the one for F ;

$$\det\left(\frac{\partial^2 F}{\partial p_i \partial p_j}\right) \neq 0.$$

Proposition 2.3. *If extremal curves of the above variational problem are the segments (2.3) then*

$$(2.10) \quad F_{p_i}(0, \xi, \eta - \xi) = \xi'_i, \quad F_{p_i}(1, \eta, \eta - \xi) = \eta'_i \quad (i = 1, \dots, n).$$

Proof. Differentiation (2.9) with respect to p_i yields

$$\begin{aligned} \frac{\partial}{\partial p_i} F(t, x, p) &= y_i + \sum_{j=1}^n \frac{\partial y_j}{\partial p_i} p_j - \sum_{j=1}^n \frac{\partial H}{\partial y_j} \frac{\partial y_j}{\partial p_i} \\ &= y_i + \frac{\partial y}{\partial p_i} \cdot p - p \cdot \frac{\partial y}{\partial p_i} \\ &= y_i \end{aligned}$$

Therefore,

$$F_{p_i}(t, x(t), \dot{x}(t)) = y_i(t).$$

Setting $t = 0, 1$ we get the required statement. □

§3. Moser's construction of time-dependent Hamiltonian function

In this section, we consider the condition for a symplectomorphism which admits a generating function to be a Hamiltonian map. Let $\varphi : \mathbb{R}^{2n} \rightarrow \mathbb{R}^{2n} : (\xi, \xi') \mapsto (\eta, \eta')$ be the symplectomorphism and $h : \mathbb{R}^n \times \mathbb{R}^n \rightarrow \mathbb{R} : (\xi, \eta) \mapsto h(\xi, \eta)$ be the generating function for φ .

In the previous section, we discussed the necessary condition for φ to be a Hamiltonian map. From this point of view, we will construct the Lagrangian F which satisfies the following properties.

$$(3.1) \quad \left\{ \begin{array}{l} (i) \quad \mathcal{E}_i F(t, x, p) = 0 \quad (i = 1, \dots, n), \\ (ii) \quad F_{p_i}(0, \xi, \eta - \xi) = -h_{\xi_i}, \quad F_{p_i}(1, \eta, \eta - \xi) = h_{\eta_i} \quad (i = 1, \dots, n), \\ (iii) \quad \det\left(\frac{\partial^2 F}{\partial p_i \partial p_j}\right) \neq 0. \end{array} \right.$$

Indeed from (iii), we can obtain the Hamiltonian system by the inverse of the Legendre transformation (2.8). Denote by $\varphi_H : (\xi, \xi') \mapsto (\eta, \eta')$ the

corresponding Hamiltonian map (for the detail about the relation between the Hamiltonian system and the Lagrangian system, see [AM] Chapter 3). On the other hand, from (i), segments (2.3) are extremal curves of (2.1). Thus F satisfies (2.10) in Proposition 2.3. Combining (2.10) with (ii), we get

$$\frac{\partial h}{\partial \xi_i} = -\xi'_i, \quad \frac{\partial h}{\partial \eta_i} = \eta'_i \quad (i = 1, \dots, n).$$

This shows that h is the generating function for φ_H , hence $\varphi = \varphi_H$. In particular, φ is a Hamiltonian map.

Here, in order to construct F with above conditions, we suppose that h satisfies the following assumption;

Assumption. *The generating function h satisfies the Legendre condition (1.2) and the integrability condition (1.3).*

According to [M], we set the Lagrangian F as follows.

(3.2)

$$F(t, x, p) = F_0(t, x, p) + \sum_{k=1}^n p_k \{ t h_{\eta_k}(x, x) - (1-t) h_{\xi_k}(x, x) \} + h(x, x)$$

(3.3)

$$F_0(t, x, p) = - \sum_{i,j=1}^n \left\{ \int_0^1 \int_0^1 h_{\xi_i \eta_j}(x - uvtp, x + uv(1-t)p) v \, du \, dv \right\} p_i p_j$$

Next section, we shall prove that this F satisfies the condition (3.1), provided h satisfies the above assumption.

Remark 3.1. In [M], J. Moser discussed the case of \mathbb{R}^2 . In this case by differentiation the Euler-Lagrange equation with respect to p , Lagrangian F satisfies

$$(3.4) \quad (\partial_t + p \partial_x) F_{pp}(t, x, p) = 0$$

i.e.

$$F_{pp}(t, x, p) = G(x - tp, p)$$

for some arbitrary function $G(x, p)$. And in order that F satisfies (iii) of the condition (3.1), he set

$$G(x, p) = -h_{\xi \eta}(x, x + p)$$

i.e.

$$F_{pp}(t, x, p) = -h_{\xi\eta}(x - tp, x + (1 - t)p).$$

Then, one have

$$F(t, x, p) = - \int_0^p h_{\xi\eta}(x - tq, x + (1 - t)q) dq + C(t, x, p)$$

for some arbitrary function $C(t, x, p)$. Finally, he set

$$C(t, x, p) = p\{th_{\eta}(x, x) - (1 - t)h_{\xi}(x, x)\} + h(x, x)$$

for some technical reason. Note that above F satisfies the Euler-Lagrange equation and the Legendre condition.

Similarly in our case of \mathbb{R}^{2n} , we consider F to satisfy

$$(3.5) \quad F_{p_i p_j}(t, x, p) = -h_{\xi_i \eta_j}(x - tp, x + (1 - t)p) \quad (i, j = 1, \dots, n).$$

However, the partial differential equation of F corresponding to (3.4) is

$$\left(\partial_t + \sum_{k=1}^n p_k \partial_{x_k} \right) F_{p_i p_j} = F_{x_i p_j} - F_{x_j p_i} \quad (i, j = 1, \dots, n),$$

which is different of (3.4). So we constructed F from (3.5) in order to satisfy (i) of the condition (3.1).

§4. Proof of Theorem 1.2

Let us begin with proofs of several lemmas.

Lemma 4.1. *The function $F_0(t, x, p)$ defined by (3.3) satisfies*

$$(4.1) \quad \frac{\partial F_0}{\partial p_i} = - \sum_{j=1}^n \left\{ \int_0^1 h_{\xi_i \eta_j}(x - utp, x + u(1 - t)p) du \right\} p_j.$$

Proof. Applying the integrability condition (1.3), we get

$$h_{\xi_j \eta_i} = h_{\xi_i \eta_j}, \quad h_{\xi_k \eta_j \eta_i} = h_{\xi_i \eta_j \eta_k}.$$

Thus

$$\begin{aligned}
& \frac{\partial}{\partial p_i} F_0 \\
&= - \int_0^1 \int_0^1 \left\{ 2 \sum_{j=1}^n h_{\xi_i \eta_j} (x - utp, x + uv(1-t)p) vp_j \right. \\
&\quad + \sum_{j,k=1}^n \left\{ -uvth_{\xi_i \eta_j \xi_k} (x - utp, x + uv(1-t)p) \right. \\
&\quad \left. \left. + uv(1-t)h_{\xi_i \eta_j \eta_k} (x - utp, x + uv(1-t)p) \right\} vp_j p_k \right\} du dv \\
&= - \int_0^1 \int_0^1 \sum_{j=1}^n \left\{ 2v \cdot h_{\xi_i \eta_j} (x - utp, x + uv(1-t)p) \right. \\
&\quad + v^2 \cdot \sum_{k=1}^n \left\{ -utp_k h_{\xi_i \eta_j \xi_k} (x - utp, x + uv(1-t)p) \right. \\
&\quad \left. \left. + uv(1-t)p_k h_{\xi_i \eta_j \eta_k} (x - utp, x + uv(1-t)p) \right\} \right\} p_j dv du \\
&= - \int_0^1 \sum_{j=1}^n \left\{ \int_0^1 \frac{\partial}{\partial v} \left(v^2 h_{\xi_i \eta_j} (x - utp, x + uv(1-t)p) \right) dv \right\} p_j du \\
&= - \int_0^1 \sum_{j=1}^n h_{\xi_i \eta_j} (x - utp, x + u(1-t)p) p_j du.
\end{aligned}$$

□

Lemma 4.2.

$$(\mathcal{E}_i F)(t, x, p) = 0 \quad (i = 1, \dots, n).$$

Proof. From Lemma 4.1,

$$\begin{aligned}
\frac{\partial}{\partial t} \frac{\partial F_0}{\partial p_i} &= \int_0^1 \sum_{j=1}^n \left\{ \sum_{k=1}^n up_k \{ h_{\xi_i \eta_j \xi_k} (x - utp, x + u(1-t)p) \right. \\
&\quad \left. + h_{\xi_i \eta_j \eta_k} (x - utp, x + u(1-t)p) \right\} p_j du \\
&= \int_0^1 \sum_{j,k=1}^n up_j p_k \{ h_{\xi_i \eta_j \xi_k} (x - utp, x + u(1-t)p) \\
&\quad + h_{\xi_i \eta_j \eta_k} (x - utp, x + u(1-t)p) \} du,
\end{aligned}$$

$$\begin{aligned} \frac{\partial}{\partial x_k} \frac{\partial F_0}{\partial p_i} &= - \int_0^1 \sum_{j=1}^n p_j \{ h_{\xi_i \eta_j \xi_k}(x - utp, x + u(1-t)p) \\ &\quad + h_{\xi_i \eta_j \eta_k}(x - utp, x + u(1-t)p) \} du. \end{aligned}$$

Thus

$$\begin{aligned} \left(\partial_t + \sum_{k=1}^n p_k \partial_{x_k} \right) \partial_{p_i} F_0 &= - \sum_{j,k=1}^n \left\{ \int_0^1 (1-u) \{ h_{\xi_i \eta_j \xi_k}(x - utp, x + u(1-t)p) \right. \\ &\quad \left. + h_{\xi_i \eta_j \eta_k}(x - utp, x + u(1-t)p) \} du \right\} p_j p_k. \end{aligned}$$

On the other hand,

$$\begin{aligned} \frac{\partial}{\partial x_i} F_0 &= - \sum_{j,k=1}^n \left\{ \int_0^1 \int_0^1 v \{ h_{\xi_i \eta_j \xi_k}(x - uvtp, x + uv(1-t)p) \right. \\ &\quad \left. + h_{\xi_i \eta_j \eta_k}(x - uvtp, x + uv(1-t)p) \} du dv \right\} p_k p_j. \end{aligned}$$

Now note that

$$\int_0^1 \int_0^1 f(uv) v dv du = \int_0^1 (1-u) f(u) du$$

for arbitrary continuous function f of one variable. Applying this, we get

$$\begin{aligned} &\int_0^1 \int_0^1 v \{ h_{\xi_i \eta_j \xi_k}(x - uvtp, x + uv(1-t)p) \\ &\quad + h_{\xi_i \eta_j \eta_k}(x - uvtp, x + uv(1-t)p) \} du dv \\ &= \int_0^1 (1-u) \{ h_{\xi_i \eta_j \xi_k}(x - utp, x + u(1-t)p) \\ &\quad + h_{\xi_i \eta_j \eta_k}(x - utp, x + u(1-t)p) \} du. \end{aligned}$$

Hence

$$\left(\partial_t + \sum_{k=1}^n p_k \partial_{x_k} \right) \partial_{p_i} F_0 = \frac{\partial}{\partial x_i} F_0.$$

Therefore,

$$(\mathcal{E}_i F_0)(t, x, p) = 0.$$

Here setting

$$C(t, x, p) = \sum_{k=1}^n p_k \{ th_{\eta_k}(x, x) - (1-t)h_{\xi_k}(x, x) \} + h(x, x)$$

then

$$\begin{aligned}
& \left(\partial_t + \sum_{k=1}^n p_k \partial_{x_k} \right) \partial_{p_i} C(t, x, p) \\
&= (h_{\xi_i}(x, x) + h_{\eta_i}(x, x)) \\
& \quad + \sum_{k=1}^n p_k \{ t(h_{\eta_i \xi_k}(x, x) + h_{\eta_i \eta_k}(x, x)) - (1-t)(h_{\xi_i \xi_k}(x, x) + h_{\xi_i \eta_k}(x, x)) \} \\
&= \partial_{x_i} C(t, x, p).
\end{aligned}$$

Hence,

$$(\mathcal{E}_i C)(t, x, p) = 0.$$

Therefore

$$(\mathcal{E}_i F)(t, x, p) = (\mathcal{E}_i F_0)(t, x, p) + (\mathcal{E}_i C)(t, x, p) = 0$$

for all $i = 0, \dots, n$. □

Lemma 4.3.

$$F_{p_i}(0, \xi, \eta - \xi) = -h_{\xi_i}, \quad F_{p_i}(1, \eta, \eta - \xi) = h_{\eta_i} \quad (i = 1, \dots, n).$$

Proof. Setting $t = 0$ at (4.1), we get

$$\begin{aligned}
\frac{\partial F_0}{\partial p_i}(0, x, p) &= - \int_0^1 \sum_{j=1}^n h_{\xi_i \eta_j}(x, x + up) p_j du \\
&= - \int_0^1 \frac{\partial}{\partial u} \left\{ h_{\xi_i}(x, x + up) \right\} du \\
&= -h_{\xi_i}(x, x + p) + h_{\xi_i}(x, x).
\end{aligned}$$

Hence

$$\begin{aligned}
F_{p_i}(0, \xi, \eta - \xi) &= \frac{\partial F_0}{\partial p_i}(0, \xi, \eta - \xi) - h_{\xi_i}(\xi, \xi) \\
&= -h_{\xi_i}(\xi, \eta) + h_{\xi_i}(\xi, \xi) - h_{\xi_i}(\xi, \xi) = -h_{\xi_i}(\xi, \eta).
\end{aligned}$$

The second equation can be proved similarly. □

Lemma 4.4.

$$\det \left(\frac{\partial^2 F}{\partial p_i \partial p_j} \right) \neq 0.$$

Proof. Differentiation (4.1) with respect to p_j ($j = 1, \dots, n$), we get

$$\begin{aligned} & \frac{\partial^2 F}{\partial p_i \partial p_j}(t, x, p) \\ = & - \int_0^1 \left\{ h_{\xi_i \eta_j}(x - utp, x + u(1-t)p) + \sum_{k=1}^n \left\{ -uth_{\xi_i \eta_k \xi_j}(x - utp, x + u(1-t)p) \right. \right. \\ & \left. \left. + u(1-t)h_{\xi_i \eta_k \eta_j}(x - utp, x + u(1-t)p) \right\} p_k \right\} du. \end{aligned}$$

Applying again the integrability condition (1.3), we get $h_{\xi_i \eta_k \xi_j} = h_{\xi_i \eta_j \xi_k}$. Thus

$$\begin{aligned} = & - \int_0^1 \left\{ h_{\xi_i \eta_j}(x - utp, x + u(1-t)p) \right. \\ & \left. + u \sum_{k=1}^n \left\{ -tp_k h_{\xi_i \eta_j \xi_k}(x - utp, x + u(1-t)p) \right. \right. \\ & \left. \left. + (1-t)p_k h_{\xi_i \eta_j \eta_k}(x - utp, x + u(1-t)p) \right\} \right\} du \\ = & - \int_0^1 \frac{\partial}{\partial u} \left\{ u h_{\xi_i \eta_j}(x - utp, x + u(1-t)p) \right\} du \\ = & - h_{\xi_i \eta_j}(x - tp, x + (1-t)p). \end{aligned}$$

From Legendre condition (1.2), we obtain the required statement. □

Consequently, the Lagrangian $F = F(t, p, x)$ defined by (3.2), (3.3) satisfies the condition (3.1). As discussed in the previous section, the Hamiltonian $H = H(t, x, y)$ is obtained by the Legendre transformation

$$y_i = F_{p_i}(t, x, p), \quad H(t, x, y) = y \cdot p - F(t, x, p).$$

And the Hamiltonian map defined by the the Hamiltonian system for H coincides with φ . In particular, φ is a Hamiltonian map. This completes the proof of Theorem 1.2.

§5. Conclusion

We would like to mention a relation between the generating function h and the extremal integral S defined by (2.4). According to Proposition 2.2, it turns out that we constructed the Lagrangian F so that S satisfies

$$dS = dh.$$

As a matter of fact, it is easy to verify that the more strong condition holds; $S = h$.

Since our result is to obtain the Hamiltonian function H of concrete from the generating function h , we can treat several applications of this.

Indeed suppose that h satisfies further the following assumption;

$$(\textit{periodicity condition}) \quad h(\xi + z, \eta + z) = h(\xi, \eta) \quad (z \in \mathbb{Z}^n),$$

then the Hamiltonian function obtained in the main theorem also has the periodicity with respect to x ;

$$H(t, x + z, y) = H(t, x, y) \quad (z \in \mathbb{Z}^n).$$

And then our main result can be extended to the case of twist mappings on the cotangent bundle $T^*\mathbb{T}^n$ of the n -torus. This subject and its relation to Hofer geometry will be treated in [OS].

References

- [AM] R. Abraham and J. Marsden, *Foundations of Mechanics*, Second edition. Addison-Wesley, Reading, 1978
- [HZ] H. Hofer and E. Zehnder, *Symplectic Invariants and Hamiltonian Dynamics*, Birkhauser, Basel, 1994
- [M] J. Moser, *Monotone twist mappings and the calculus of variations*, Ergod. Th. & Dynam. Sys. **6** (1986) 401-413 .
- [MS] D. McDuff and D. Salamon, *Introduction to Symplectic Topology*, Oxford Univ. press, 1995
- [OS] N. Otsuki and S. Suzuki, *Hamiltonian monotone twist mapping and Hofer geometry*, in preparation.

Sintaro Suzuki

Department of Mathematics, Faculty of Science and Technology, Science University of Tokyo
Noda, Chiba, 278-8510, Japan

E-mail: suzuki_sintarou@ma.noda.tus.ac.jp